WIRECTIONS. (Question No. 1

16 3) Read the following
slalsrmant carefil

wer the questions given under it
Yrom u balch of six batsman—
Ciyang Youvra) and Tendulkar and fo

Iy and then ansg

Sahwag, Gambir, Dravid,
ur ballers— Praveen, R. P
S8ix players is to be selected
mational Cricket League. Some of the

Bingh, Kapildev, ishant a leam of
e |J.1t|4t.1[;.‘il|rl5; i nte
Lilleria are
' Gambhir and Dhoni have to be together
- Dravid can not go with R p. Singh
W Tendulkar can not go with Sahwag or Dhoni
V. Praveen and Kapildey haye 1o be together
Fraveen can rot go with Ishant
Sahwag and Youvraj have to be together
Unless otherwise mentioned, the
all the lollowing questions.

1. M four of the members including Youvraj have to be
batsman and one of the baller has to be Kapildev, the
team consgists of:
(1) Sahwag, Gambhir, Dhoni, Youyraj, Kapildev, Ishant
(2) Gambhir, Dhoni, Youvraj, Tendulkar, Praveen. Kapildev
(3) Sahwag, Dhoni, Youvraj, Tendulkar, Praveen, Kapildev

« (4) Sahwag, Gambhir, Dhoni, Youvraj, Praveen, Kapildev

4. If at least three members have to be ballers and Dravid
Agrees to team with R. P. Singh but R. P. Singh refuses
to team with Sahwag, the team consists of:

v
Vi

above criteria are applicable to

= (1) Gambhir, Dhoni Youvraj, Praveen, R.P. Singh, Ishant
(2) Gambhir, Dravid, Dhoni. Praveen, Kapildev, Ishant

“(3) Praveen, Ishant, Kapildev, Sahwag, Dravid, Youvraj

AAY Praveen, R. P. Singh, Kapildev, Gambbhir, Dravid, Dhoni

3. If three members including Dravid have to be batsman
and Ishant agrees to team with Praveen while Youvraj
refuses to do so, the other members of the team are:

~f) Gambhir, Dhoni, R.P. Singh
(2) Gambhir, Dhoni, Kapildev
(3) Youvraj, Tendulkar, Ishant
(4) Sahwag, Youvraj, R.P. Singh

4. As per 3™ advance estimates of production of crops for
2014-15 by department of agriculture and co-operation
in May, 2015, The production of which of the following
crop is higher as compared to last year production:

(1) Rice (2) Wheat
- (3) Qil (4) Sugarcane

5. New rate of service tax which is levied at the rate o
14% has taken effect from: ;

(1) 1" May, 2015 (@ 1% April, 2015
« (3) 1™ July, 2015 (4) 1" June, 2015

the file names for application programs?
(1) EXE (2 DR (3) TXT  (4) DOC

Scanned by CamScanner

6. Which of the following is a common extension used in

gm;.;qi_u Shet han il S SAPER L I [BAY T

PRy (ve den 1 @ 3) Pesiiga o0 @ W 9 9 ® 9
R o ouwd & Iov aud sy & 3
B SelarAl- wEan, i afe ae), g, @ AT arr
- S, . g, afeds, 0, @ 08 B g o

Rawiedl &1 T aw oradsiy fyde @ e 8 3 R gy
ST B w B %8 9d 59 s @

i i od @ oo e A 8

i aRE ared. RiE & g € o w6 ¥

il AT TEar @ de @ e AE S Ee R

iv. o iy @ op e o 8

v. AW fa @ gm A8 o ﬂ-‘-ﬁrji }'.

vi. PRI OH gEE ) w A d

9 o R A e o, Swfw od wh el B R ang i g
1. AR ax e Rl gaaw o 8 B TS e f od
% e Haaa B @ @, a dw A ali ey

(1) weam, T, A, gaw, HRwRe, fs
(2) T, A, Fa, dgeeny, SN, BRI
(3) weaw, 9, ga, deey, SaH, BREtE
(4) HEaw, T, AW, gaRm, s, SR

2. g FA 8 P I G Fage o ¥ wd 2R o, Ris @

3. aft s B afRE 5@ @ wew TRa Bt ¥ o

T 3 W AN A R B Rie gewa A1 ¥ Oy o g
W FE B T HA YA D gEt R AR B
(1) 4R, °Ff, o Ris g
(2) ™R, 9, FfeRe

(3) I, IFHY, A
(4) TEaR, g3, AL Ris

4. T o Py Bwmr ama wE, 2015 § 2014-15 3 B

m%m%mmw%mmww_f

T ¥ g0 o fhg wEd &1 IwRd s R
(1) dEw 2 M
(3) ¥ (4) ™=

5. {amT N 7 < St B 14% @ o o1 @ B, B4 A o
& _ : _

(1) 17, 2015 (2) 1 o, 2015
(3) 1 T, 2015 (4) 197, 2015
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7. Which is next in series?

SICIGIO.
(1) @ ) @
o i)

8. David Cameron was back to power on 9" May, 2015 in
recently held elections in UK. Which party swept
Scotland in the election with majority of its MPs

(2) The Labour Party
(4) The Conservative Party

. (1) The Liberal Democrats
(3) Scottish National Party

9. An ice block with a piece of lead embedded in it floats
in water. If ice melts, the water level?

(1) Rises (2) Falls
(3) Remains same «(4) Falls first and then rises

10. 2000 soldiers in a fort had enough food for 20 days.
But some soldiers were transferred to another fort and
the food lasted for 25 days. How many soldiers were
transferred?

(1) 400 (2) 450

(3) 525 (4) 500

11. The read/write line:

(1) Belongs to the data bus

(2) Belongs to the control bus
(3) Belongs to the address bus
(4) Isa CPU bus

DIRECTIONS: Study the information given in each of these
question to answer them.

Number of the voters registered and voted from different constituency.

Constituency Number of voters in thousands
Registered Voted
[ 180 105
f 250 150
i 290 170
v 320 200
V 200 110

12. Which constituency had the highest percentage of polling:

(11 (2) I
L@ m 4) IV

13.

Find the missing number in figure:

Scanned by CamScanner

erm [ MI a

7. ot & Pa-ar R apda?

PODD®

@
3) @ (4) @

8. Mg drer ol o & A 4. @, A owdiforr g 9w,
2015 #t @ar 7 afg sy g & B g o Eedve
AU HoE Gl H A qE A wh
(1) # foraer SHbeH ) & d=y aret
(3) wifesr A9 arel (4) % Foreafeg

€8 @ w1 g 9P 1 b gwel geh A fven By Al A
Rt B, df 9+ &1 @0

(1) T&am &
(3) @& TEm ®

10. 2000 &F 3 foe o R & 20 e @ gaba Ao 91
At e A gt R # wmrafta w R g gd o
25 o % aem feaa Af ® st B

(1

qréf

©

(2) wew B _
4) uBe gedr B fET agen B

(1) 400 (2) 450
(3) 525 (4) 500
11. TS9/d@d 1@

(1) s a9 ¥ gefag & @
) P 39 & geafag Bl B
(3) T S & g=feg B 8
(4) CPU 9 B &:

e A9 @ el &1 sTeRH HX wd I g @ I
Uoiig ot o S T R woan At i Ra o et 4w

G TR g g ® |
G ffd muqm
| 180 105 i
I 250 150
e 290 170
v - 320 200
V 200 110

12. o9 85 7 wa@ sy Rwe waeE ga:

M | @) Il
@3) (4) IV

13, hﬁﬂmmm%.wﬁwwm:

19
5 : 3
23 17
4
(1) 39 2) 45 -
(3) 47 (4) T} B T
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14, Which one of the following statements correctly describes

the Fourth Schedule of the constitution of India?

AT 1t contains the scheme of the distribution of powers
batween the union and states

{(£) It allocates seats in the council of states

(3) It contains the languages listed in the constitution

{4) It contains the provisions regarding the administration

af tribal areas

15. The so called “bad” cholesterol in the serum is:

(2) VLDL
"(4) All of these

(1) HDL
(3) LDL

16. Three of the following four are alike in a certain way
and so form a group. Which is the one that does not
belong to that group?

(1) North America
(3) Africa

(2) Argentina
(4) Australia
17.  Which of the following was not written by Kalidas?

(1) Kumar Sambhavam
*(3) Meghdootam

(2) Laghujatakam
(4) Raghuvansham

18. Who among the British Generals defeated Peshwa Baiji
Rao II:
« (1) Outrum
(3) Elphinstone

(2) Malcom
(4) Kitchener
19. The great Asian river Mekong does not run through:

(1) China
(3) Cambodia

_ (2) Malaysia
(4) Laos

20. Which of the following may be used by the Reserve’

14.

15,

16.

17.

19. #HeH

Bank of India as a tool to draining out excess money

from the system:

(1) Increasing Cash Reserve Ratio
(2) Increasing Reverse Repo rate
(3) Reduction in Repo rate

+(4) Both (1) & (2)

DIRECTIONS: Complete the Series in the following figures.
Frder: Fraferfaer emgpfrdt &t aft &t gof Y
21. Question figure (¥ 3TFHf)

20.

. + and ‘ﬂ'i{}rﬁd
Preifafas # @ #5-w $9d e L Ll & A :
# gé-ad bl g 37

1
(1) T @9 o T A g g i” g7 B
() 7 T & ofve § G A *‘d._' i
(3) wfaa # gfe Al o fafed 'J'v g B B

Tea] | #]¢
(@) 7 s At & e @ 9

7 #l ur;u CLC G ﬁ

e 4w A o g A
(z) VLDL

(1) HDL @ 3 ah

(3) LDL

v e ¥ 0 0% WA
ﬁwﬁﬁ@ﬂwﬂ'ﬁeﬁaﬁsmfmmm ?
mﬁﬁxﬁmﬁmﬁam-m@w\ﬁmamﬁwaﬁ%_

(1) a=f sl () *Tﬂ"fm
(3) S (4) SrEgier

P ¥ A-a sz w6 e e

(1) FAW H9IH (2). FEATHH

(3)*'#*1?;_?1“ (4) TG

Yy a0 T P B e #03 @en g s B9 an

(1) o (2) A
(3) ufHEN (4) fEat

o T A Prefafaa @ St A8 awd
(1) 99 (2) wafE
(3) T (4) AAH

Feicfa & A Rod 3% ol sPear arr o3 # & affts g
Fl e} e 3 i & 43 3 w7 #§ wEe B e B

(1) e GfEd S e
(2) R 3 T FemT

(3) T IT e

(4) A (1) T (2)

Answer figure (IWT aT3f)

b2 Lo

52

£

e

(1

3 o A A

DIRECTIONS: In this question. A piece of paper folded as shown below. How it will appear when unfolded.
e mmﬁﬁ%uﬁmﬁaﬁww%gﬁ@aﬁﬁmw%s W W 97 3 Rar 3

22, Question figure (w1 SR

Answer figure (Ie aﬂ-.ﬁﬂy)
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The perimeters of a square and a regular hexagon are

23,
area of the hexagon to the area

equal, The ratio of the
of the square is!

() 239
A3 33:2

(2) 243:3
(4) 2:3
Select the choice that represents the given number the
best.

1725552
(1) NPNRRRS
@)NNPOQRS

24,

(2) ABCDEFF
(4) ABCDDDC

The refractive indices of Kerosene, Turpentine and

i re 1.44, 1.47 and 1.33 respectively. Light will

water a .
have maximum speed in:

(1) Kerosene

(2) Turpentine

(3) Water

(4) Speed remains same for all

A man stands orr a tower and sees two hill peaks one
in the north east and one in the north west. Both peaks
are at the same distance from the tower. He climbs the
top of the peak in the North East and looks at the other
peak. Which direction does he look to do so:

(2) South West
-(4) West

26.

(1) North West
(3) South

DIRECTIONS: Answer the following guestion on the basis of the
information given below.

i.  Trains A and B are travelling on the same route heading
towards the same destination. Train B has already
covered a distance of 220 km before the train ‘A’ started.

ii. The two trains meet each other after 11 hours after
start of train ‘A’

iii. Had the trains been travelling towards each other
{from a distance of 220 km) they would have met after

:_:ﬁ_-

B 12D
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23.

24,

25,

26.

uw of wd wer wewe A aRERY aoar ¥ segw
# ot & fave @ dw s B :
(12431 (2) 2J3:3
(3) 3/3:2 (4) J2:3

e

WW@@@%@WWWQ%M@W
Bl
1772 55521

(1) NPNRRRS
@3 NNPQQRS

B &1 dw, adE B A9 qd O H SUEAH BHA: 1.44,
1.47 T9 1.33 1 yHrw A arfay iy @i _

(1) mHr & awd

(2) ardiF % o H

(3) I
(4) =@ @ q auEy @i

(2) ABCDEFF
4) ABCDDDC

w o T TET 9 g9 & oY A geEl aifedl o St guy
tﬁqagmﬁﬁﬁnﬂﬁwﬂ&%@m% e/} /A At
F g0 GO 81 98 I T B AA W geH g A1 B
gar B U@ A B fere 9w few R § e

) X qivEm (2) iy afem

(3) afarT (4) qf¥Es

frdsr: i 3 70 gaell & om w Frafafaa g & g 3

. FAWB WA TR WS & g EwE H R
T H T ¥ 3T B & 220 bl A 30
T g 4 79 A’ 3 e e

i FAD ATH FH B 11 R D oAy M @
7o & fred

ii. 2% A1 33w gE H oA 7 @ A (220 Rrnfie
# 70 &) & 78 @ R B A fed

one hour. 27. frariiex afvder & 39 ‘B’ &) 9w = D
27. Whatis the speed of trains ‘B’ in kmph: (1) 100 (2) 180
(1y 100 ) 180 @18 4) ¥ § I T
(3) 116 (4) None of these
28.  Which state has the largest population of scheduled tribes: ~ 28. 5% T ¥ argafa sFonfy #) e waifs 3
(1) Kerala (2) Maharashtra (1) @ (2) HERTS;
‘(3) Bihar (4) Madhya Pradesh 3) Rer (4) HeE-SRY
29. Numbers are stored and transmitted inside a computerin: 29, FYX F AT gl B wvela @@ dERer R o B
“(1) Binary form (2) ASCII code form (1) T=TH @ey § (2) ASCll HiT @&y §
(3) Decimal form (4) Alphanumeric form (3) Ned @eq ¥ (4) av ey ey d
30. What is used to convert the program written in 30. ISiTH W ¥ Rid HARY B A W A T 3 R
assembly language into machine language: ¥ R e wE R e ' &
(1) Interpreter (2) Compiler i .
: : (1) Feas 2) SWNE
(3) Assembler (4) Non‘e of these (3) PrefE 24; = ¥ B
.,____2% _"’ v EFW[M] PAPER -1{041772]



: 31, g A3 B gl B
31. Match the Suitable palr e s B ®
; Used in S i W i
MHJ?-QJ 1. Almunium Industry A, HTEET 1. R
A. Mica = ; e 2. wifw FAl
s 2. Thermal Power B. - P
B, Bauxit 3. Electrical Industry L3 L EEi| 3. fi—rga
& M*’“T”ww ' 4. Stoel Alloys p. farde 4. e Iam
D. Lignite S :
T amaicd 02 (2) A4, 81,3, D2 (1) A3, B1 C4,D2 (2) A4, glgg gi
(3) A2 Bf.C4, 03 (4) A3, B1, G2, (3) A2,B1,C4,03 (4) A3, B1, Gz
3) A2, Q‘{..-r
T 32. us AR e \3(“
e ‘dlCBlC uppercase letters () s L E o = e \6
(1) Usseiio: indjoate UPPEILAns IOTeND . By 2 .
(2) Used to detect errors 523; ﬂi?tﬁﬁmq?;;nl; ;3?': #remr & ﬁ\ \-q...
3y s the first bit in a byte g E1e T t o~ L
((4; is the last bit in a byte (4) e & o e g ¥ (i \‘\b
33, QWERTY is used with reference to: 33. QWERTY fed Hadt & goep den &:
: 1y Sereen layout (2) Mouse button layout (1) @M aonSe (2) HARH E(E‘T AAHE
53;} Keyboard layout (4) Word processing software (3) FHEE qAHE (4) T2 WA Ay
h other, 3 34. % 20 Y% At e &, g 1 4 2,3 04 4,5 W@ 6 @&
_In a 20 pages book, pages 1 and 2 face eac :
- ar:ac? 4 face each other, 5 and 6 face each other. This Tql B g %1 78 9k o o% Ewg G g =
pattern is repeated till the end. The product of 2 pages al gl & %A 8 8 wpar
facing each other in this book cannot be: (1) 184 2) 132 @) 90 @) 56
(1) 184 () 132 (3) 93 (4) 98
35. In a certain code, CONTRIBUTOR is written as 35. % fiffad %12 #, CONTRIBUTOR 3 ‘RTNOCIROTUB’
'RTNOCIROTUB'. How is 'DISASSEMBLE' written in ferer s #1 @ ‘DISASSEMBLE’ =& @tz & 33 fRran
that code? SrA?
(1) SIDSASLEBME (2) SSASIDELMBE 1) SIDSASLEBME 2} SSASIDELMBE
(1) 2)
«(3) SASIDSELBME (4) SASIDESLBME (3) SASIDSELBME (4) SASIDESLBME
3. The average score of Sachin Tendulkar in IPL 15 36. IPL & 15 #df & afm dgwst %1 ofwa @ 70 ® @ aEx
Matches is 70 runs and the average score in Border ARt giel T-20 & 7 A9l & S9ar ofea ™ 45 B aR
Gavaskar Trophy "T-20 Matches is 45 runs in 7. I8 10 3T s T-20 #9 @« wd 9@ F Aaa
matches. if he has played 10 more International T-20 T8 W W oad T-20 ¥ T 73 W gu @ ITH™ 40 |
matches and his overall average score in all T-20 Fisig T-20 ¥=f & el TR W T R \
Matches was 73 runs. What was his total score in 10 it 5o ‘g. %’
International T-20 Matches: §—
(1) 990 (2) 971 e @) 5 & =e -—ﬁ:"‘ #
(3) 982 (4) None of these Pl & ASSEMSELE
: LB
37. Find the incorrect statement; 37. WA HIT B qEEN: S fS LD $E Ebhe
(1) House of Federation is the new name of senate (upper (1) TR & e (d9e @1 e weq) 1 T AW e
house of parliament) of Pakistan AT PereE B
(2) Justice $K. Sinha is the first Hindu chief Justice of (2) =My g3, R ahary 3 e R qer = &
Bangladesh 2 S e
3) FTAYTA T Rove el
*(3) Man Booker International prize 2015 winner is a b WTHEETTW 3 k) 2_015 n = E"Tﬁ
Hungarian Novelist @ N 5 3 e
(4) Chabahar Port deal was recently signed between. ) et Lo piE : :
India and China ; BRI b ™ - Mt
38. A‘ntwerp - a leading place for cutting and trading 38. Twad - €} B TR wd R H & el = F8 W
diamond is located in: g fRery 3 _ : S b
53) Luggmbourg 2) Fran‘ce (y o (2 W ks
) The Netherlands (4) Belgium @ Wevel e @ TEOR
S W PAPER-1[841T72).
R 2 : - 1 {64 )

EFcxs [ A-5 )
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No. 39 & 40) Given below are three

P (sed wen 39 wd 40) o @ 9@ & @ el Bl g

DIR '
posigt::gh: thtauf?:? dice having names of six institutions el % A e st g fid w2 2 Am # ICA. ICWA, ICSI
inscribed ;r\ si \er 1\{ .¢ The names of these institutions are, ICA, ICFAI, |IT, BHU :
ICWA {CS! ICFAL T BHU A ICWA 1cA ICWA
AT ICA ] 7 ICWA 2 :
g T A e A ics ICWA ICFAI
g e f ( ICWA ICFAI ICFAIl BHU BHU
_.f L o
L— 39. ICA 3 3% Rl (SR) 9@ 91 fa-w am em?
; ?
39. Which name occurs on the face opposite to that of ICA? (1) 1C8I (2) ICEAI
) 1CS! . (2) ICFAI 3) T (4) &7 | Hg 78
3y HT (4) None of these
40. Which name occurs on the face opposite to that of IT?  40. IIT 3 % Rl (3) q@ T Be-ar 7 #rm:
(1) ICSI (2) IFCAI (1) ICSI (2) IFCAI
(3) BHU . (4) None of these (3) BHU (4) 99 q F1g TE
41. In this question, find the missing number from given 41. ¥ 99 & R} 7u Rymedt ¥ & g den s #1
responses. ; 341 (16) 521, 613 (25) 816, 452 (?) 326
?
341 (16) 521, 613 (25) 816, 452 (?) 326 (1) 22 @) 27
~(1) 22 (2) 27 (3) 36 (4) 49
(3) 36 (4) 49 \\
42. Humayunama has been authored by: N 42. wA-TTT f6Es @r frar T
(1) Firdausi (2) Gulbadan Beghum (1) Rt (2) T &
« (38) Abul Fazal (4) Kazi Nazrul Islam 3) YA HoT (4) B F9ew ZEH
43. Which Tala has sixteen Maathrass: 43. 9 a9 ¥ 16 =W anf E:
» (1) Jhaptal (2) Roopak Taal (1) Fuar (2) =% O
(3) Teen Tala (4) Aadi Tala (3) 9 O (4) onfe am
44. In which state is the Gol Gumbaz located: 44. 69 v ¥ M T Rem B
-(1) Karnataka (2) Maharashtra (1) FAH (2) . FETSE
(3) Uttar Pradesh (4) Bihar (3) TR @) fEr
45. In this question, select the related number. 45. 34 9¢ ¥, gEtag e & w1 3%
DE:25::Hl:?2 BE:25::H| 7
(1) 52 (2) 45 (1) 52 (2) 45
(3) 82 (4) 27 (3) 82 (4) 27
46. IPv6 address is of? 46. IPvé R frew &1 war 27
(1) 256 bits (2) 128 bits (1) 256 faeg 2) 128 fgq
(3) 64 bits (4) None of these 64 ﬁ‘IEH 4) ¥ § i T

47. Puneeta borrowed from Reena certain sum for two

years at simple interest. Puneeta lent this sum to Venu
at the same rate for two years compound interest. At

the end of two years she received Z 110 as compound
interest but paid T 100 as simple interest. Find the sum

and rate of interest:

(1) < 250, rate 10% per annum
(2) T 250, rate 20% per annum
(3) T 250, rate 25% per annum ”(
(4) None of these

Y”
uh
\‘7’5@@
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47.

gﬂm#ﬁw@ﬁmﬁmﬁﬂ%mwmw
IR fam g A @ A A S A w A At B
g AW G FW Ram & a9l & o W 3@ 110 ¥
w3 R B AR 100 5. wmMRe = 3

A fam @ T B T e @ A a:

v O
v ‘J (1) 250 ®., & 10% wioed
V- 90 \4 (2) 250 ., & 20% wirs
? \ﬁ, (3) 250 %., 3T 25% S
(4) 3T 8 F3 T
O \  nanen

reave Il A 21
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48, DOS can not retrieve any data from a disk if a 48 DOS feh it sl @ feep & Froo T8 oy g ‘&_

computer virus corrupts the ____ of the computer e Ay kLo 124 - SR PIRCEAC B s | i
(1) File allocation table (1) ‘f-T‘é'i*l '_'_"’f'l*‘ﬁﬁ?l'i o
(2) BAT files (@) BAT wnte
{3) Root Directory Area () e sped ofty
(4) Directory Area (4) 3"5”")"'*'1' e
49, Ajay can do a piece of work in 25 days and Sanjay can 49, 39 et wed ®Y 25 fa et WO # ud dom I'Rﬂ L0 T
finish it in 20 days. They work together for 5 days and g 20 Ro T QU BTy B A PEET 5 R am i
then Ajay goes away. In how many days will Sanjay H@ ¥ ud RO S e o B A 99 % ;ﬂ- W
finish the remaining work? e T i o w7
~1) 11days (2) 12 days (1) 11 f&s 2) 12 f&s
(3) 14 days (4) None of these (3) 14 R (4) & A B T
50. Given that. 50, famr @
1. Aisthebrotherof B 2. Cis the father of A 1 B& AR 2 A@fEmcC g
3. Disthebrotherof E 4. Eis the daughter of B 3 E®YEDS ¢ B g;ﬁ E2
Then the uncle of ‘D’ is: at ‘D’ F arer T 37
(DB (2) B @ CcC - A (1) E (@) B 3 C 4 A
51. Examine the following statements: 51, fPrefafaa H9 B e 3.
1. Shivam scored more than Shivani 1. fram A fm # i ol B
2. Shivani scored less than Shivangi 2. fEe A FEM | 39 o aft B
3. Shivangi scored more than Shivam 3. [l 4 fEw | S i offe B
4. Isha scored more than Shivam but less than Shivangi 4. % 3 fEw | R ol g Rt & B o ok B
Who scored the highest? RaE 3% TER ST Tl
(1) Shivam (2) Isha (1) fram ) ém
(3) Shivani -4) Shivangi (3) frarh (4) T

52. There are 100 students in a particular class. 60% 52. % ##1 ¥ 100 framdf & 60% Remi e aw ¥, 30%
students play cricket, 30% students play football and femdf Gedter @) & wd 10% R O @ @) ¥

10% students play both the games. What is the number il # 92 Tem R S 9 @ R M A A LT
of students who play neither cricket nor football? Qeq ¥7
(1) 25 (2) 18 (1) 25 2) 18
A3 20 (4) 15 (3) 20 (4) 15
53. Which number will come next in place of (__ ) inthe 53. Frefufad aoft 7 (......) 3 &R W -0 Feq qM?
given series? 3
3,20,63,144,275,(__ ) (1')20:;:;' e 2)
i 548
(1) 354 (2) 548 (3) 468 §4) 554
(3) 468 (4) 554
54. Typhoid fever is caused by? 54. ) sy Reg o7 B 27 —
(1) Virus 2) Bacteria (1) () S -
(3) Fungus (4) None of these () wgE (4) 3 § . Tﬁ
55. One star is going away from the Earth. Then the 55. % am et & gz o @ @ gl W e Frlws an @
observer on the Earth will experience: TN B w A R S HIW:
(1) Decrease in wave length (1) @t 3t § o
(2) Increase in wave length - (2) T 2w § gie
(3) No change in wave length (3) ot A F R T8
(4) None of these : 4) T ¥ B T8 '
 eroxs[A-7] | bl il
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56.

57.

58.

59.

Select the diagram which best represents the
relationships between educated people, unemployed

and teachers.
4o

000][® || @D | &

A 8 (C) -1D)

(2) B
(4) D

(Hh A
@ C
Number of students in different specialisations in an

institute
400

300
No. of
Students

100

U s WERE v W

Number of students in specialisation IV is what
percent of the total number of students in the institute.

2 1
@) 235 (2) 23.E
1 2
- 4) 22-
(3) 22 3 (4) 3
Most of the ozone in the atmosphere is concentrated 58.
in the: A
) lonosphere (2) Mesosphere

(3) Stratosphere (4) Troposphere

AMRUT Mission of Government of India relates to:

(1) Transforming cities & towns into smart cities
(2) Health sector
(3) Agriculture sector

4) Food Processing sector

60.

61.

Study the following figure:

A person goes from A to B always moving to right or
downwards along the lines. How many different routes

he can adopt?
A
B
Select the correct answer.
(1 5 (2) 4
3) 6 @ 7.

56, Iu Yen fax @ waw & SN faftra =fe, IV
e gl w Edds wg § walf s B

ooo|[® |[@D]
(A) (B) {C)

(1) A (2) B

@) C 4) D

400

200

300
No. of L =g s = . i
Students /.

P = e e = -

100

(1) 232 @ 23
1 2
@) 225 @ 23

Wﬁmmmaﬂﬁ%ﬁwﬁ.ﬂw&

(1) TS (2) FEEvEH
(3) EHAIHUSH (4) ShvETsE

T HLON B AMRUT Byve e wafem &

(1) T P R R e =9 3 R
(2) @ &= e

(3) PN &
(4) TR = S5

60. Fr=fafea e @1 stew 0

@ ARF A AR BIR P RA Wy IR g o AN
3T TRl A T T ¥ e e wd ) o ==

A

B
T IO H T B

) 5 () 4
(3 6 @ 7

Verification of a login name and password is known as? 61. FFEY 9 Td tad & gua &8 s8@E L

(1) Configuration
(3) Authentication

(2) Accessibility
(4) Logging in

eroxs[A-8]
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62. Which of the figures shown below occupies the blank 62

67.

Space (?) in the matrix given below:
DOP
©HO
PO

Scanned by CamScanner

2 B2 g My 3 ey et (7) T IO R oy

A
SEEE
S OP

B0 -
(3) @ 4)

19 RawL, 2014 F Ap-g ¥ AN B TN GST RETH

63. GST bill introduced in Lok Sabha on December 19, 63.
2014 is the constitutional amendment bill: gaafs g f@eas
(1) One Hundred & Twenty first amendment bill, 2014 (1) 12131 | fadgm, 2014
(2) One Hundred & Twenty second amendment bill, 2014 (2) 122dt dMgA fadam, 2014
(3) One Hundred & Twenty fourth amendment to the (3) 12431 HqUH HaeA
ooreHie on (4) 11997 saie fads, 2013
(4) One Hundred & Nineteenth amendment bill, 2013
64. Arrayis the 64. T (Array) & &:
(1) Linear data structure (2) Non linear data structure (1) aH -31?%3_! Al (2) %I—iﬁgji Gﬁ%‘[ HEET
(3) Complexdatastructure  (4) Simple data structure (3) Sfew 3BT HLEAT (4) FIE AHST HIEH
65. As per the World Happiness report 2015 published by 65. SDSN &Il 5@ fawa i gaeret RaE 2015 3 AR
SDSN, who has been named the happiest country of Rre 29 3t Risg &1 a8 gee 39 A T ¥
the World: ) I 2) IR
) Denmark (2) Norway (3) HieoTaTs (4) FE
(3) Switzerland (4) Canada
66. Surya Kiran-Vii is the joint military exercise of India 66. ¥ Rw-VIl #3w A s wiea o Fow weiel aférer
with which neighboring South Asian country? R 29 & HE g7
(1) Bhutan (2) Bangladesh (1) %™ (2) TR
(3) Srilanka (4) Nepal (3) S (4) AU
In the given figure AB and CD are two parallel chords  67. fRAEdfsods I PmaRa w @ W AB @
of a circle with center O and radius 5 cm. Also AB=8 CD & §WM=R et &1 AB=8 cm Td CD=6 cm. dR
cm and CD =6 cm. If OP L AB and 0Q L CD, determine OP LABTE 0Q L CD #, & PQ % e &id %
the length of PQ:
g M Mf 2
e
c D i
: (1) 7em (2 10cm (3) 8cm (HFH AT
1) 7cm  (2) 10cm (3) 8cm  (4) None of these
68. Find the value of X: 68.
P o
. L -k
o
: < Ly O
(1) 160° (2) 40°  (3) 80°  (4) 120° (1) 160° (2) 40° (3 80° (&) 120°
- : : i i : : : PAPER -1[641772]



DIRECTIONS: 69 & 70) In the following
questions. each question is followed by two statements labelled
| and Il in which certain data is given. You have to decide
en in the statements are sufficient to answer

whether the data give _ _
the question. Using the data aiven, together with our everyday

knowledge, choose
i statement | alone is sufficient to answer the question

(Question No

A but statement Il alone is not sufficient to answer the
question .

B If statement Il alone is sufficient to answer the
question but statement | alone is not sufficient to
answer the question

C  If both statements | and Il together are sufficient to
answer the question but neither alone is sufficient to
answer the question

D. If1and Il are not sufficient to answer the question and

more data is required

69. What marks have been obtained by Ramesh?
I.  Ramesh's marks are average of marks of Namita and
Anita
Il. Namita obtained 80 marks and this is 33% more than
the marks obtained by Anita
(1) A (2) B
3 C 4) D
70. A certain bookshop sold, 92 copies of “Geet Gata Chal”
by Atal Bihari Vajpayee during the first day. What
percentage of stock of this book did he sell on that day:
I.  The total number of books with this title on stock is 230
Il. There are a total of 1000 books in his store.
(1) A
(2) B &0
@® C Vonp
(4) D \ A
71. Find the incorrectly matched item?

(1) Country who won the Women's Hockey World Cup,
2014 - The Neatherland

(2) Harika Dronavalli associated with game — Chess

(3) Australian open 2015, Women's single title winner —
Serena Williams

(4) 2014, Wimbledon Champion in women segment —
Eugenie Bouchard

Tick the incorrect statement with reference to current
affairs:

(1) India is the fifth biggest producer of e-waste in the
World as per UN report

S Lanka Pariament recently adopted the 19"
constitutional amendment with an overwhelming majority
Protection under section 197 of CrPc was only

5

(2)
(3)

available to a public servant for honest discharge of

his duty as per recent Supreme Court Verduct

4)
winning Indian Premier League title recently in Kolkata

Chennai Super Kings defeated Mumbai Indians in the final

Frfer: (ney e 69 T 70) Frefataa A9 A, geE 9 3
A wegA | o | mmrﬁmﬁﬁamfﬁrﬂq#:wﬁ‘fﬁ
Tmahavﬁer:ﬁqf*ﬂrm mnwﬂwhﬁmm
S S ST A B g A gg AR @ O AN

A A | FE i B A w5 mw&

A.
fory qater # 2

B. aff F47 I| I 3 3 fo o gAid 2 i %9
qFa 397 24 % ol mta =#5 3

C. uﬁﬂ"rﬁmlqauwmawaaxﬁﬁwh
e FE F FEF I 33 B Fl qata A4 B

D. 7z 3Ff F49 | td || 3A¢ 3™ 3 ford 9@ 96 2

69. Ty &1 R 3% #Afota 5 mu?
| 79 % % e oF gfEr # o 31 a8
1 qﬁmmaﬁameoﬁt{aq&'mmm
FH F 33% HRET 2
(1)
(2)

3)

A
B
C
(4) D

70. % fham # gPM 7 srew fErd amid @ T i
w”ﬁszmmﬁqﬁuwm%mﬂﬁ
g 399 39 fa &=
f gﬂsﬁ%aﬁqﬁﬁﬁrﬁaﬁmmﬁmo&

. I6F € & Fg 1000 fEE 3
(1 A
@ B

3) C
(4) D

o AR W% B geE

(1) ¥ R gfeen 291 fasg #9, 2014 Siar - ARIae
(2) 2R AT B § FErE B - I

(3) refme A 2015 #far wa @ grEr R

e e
(4). WE=n @vg F 2014, e AR - g AR

1o, S TR R A § S e

() 2.0 RdE 3 agan Re § e-waste H e
92T IR W B

@ dict B dor X o A A F 108 @k
gl Tgwa A wiRa R

w(s) wﬁ%aﬁaw%ﬁvﬁu%wcmc#
7197 3 o G 3EW O GRS A
ST A S O FeE R @ P a0
) B & F P § R B & 3 i
W R 3 g=d e A e R

-l 3



B o
73. The BRICS Bank would have its headquarter in? 73. BRICKS ¥% @i quaery ol #

E o R
(1} India {2) Russia (1) ™ (<) v R
{3) China {4) South Africa (3) #H4 {4) i

aﬁma@fﬂimmhﬁ*ﬁ”ﬁ”fﬁmﬁ%ﬂ

74, Permanent instructions that the computer uses when it 74, FET 4
is turned on and that can not be changed by other warT w0 B wd o gai frdel & aftafde w#l fair o s
instructions are contained in? a8 frad ffga #a ﬂ?

: ‘2) RAM
{1) ROM (2) RAM (1) ROM (
{3} REM (4) None of these (3) REM (4) gad @ #F Al

75, 1f any industrial unit is to be declared as sick unit, it 75. AR B¢ S g B wm g AT A Y, 0 o m‘l
will be referred to: deftfa fpar smar 2:

(1) BIFR (2) DRT (1) BIFR (2) DRT
(3) SEBI (4) MSME (3) SEBI (4) MSME

DIRECTIONS: (Question No. 76 to 78) A survey is conducted on  Fiaer: (7 @€A1 76 & 78) 800 #fwedat £Frad o7 o ud fi
800 software engineers. It was found that 45.625% of them e 1 U8 9T 7T % 3% @ 45625% C# 9y wma &, it B
know C# language, 56.875% of them know VB and 47.5% know  56.875% VB @Fd # Td 47 5%, w1 W & 17 5% digehnr
Java. The percentage of software engineers who know C# and #fsgd st C# 99T Ud VB wimm # e A A wAd ¥ o ap
VB but not Java is 17.5% and those who know VB and Java but & yg ud siEr FHa & TH CH# qMI T AR v ot
not C# are 15.625%. The percentage of software engineers who 15.625% B 9.375% Weamy Forad ¥ A C# wng - W
knows C# and Java but not VB is 9.375%. The total number of s ¥ A VB T8 399 s s A r i
software engineers who only know Java is 150. Answer the 71 dem 150 ¥1 & T G B omt 7 m.; ";ﬁw’“j ‘g?"*“i

question based on the in formation.
76. o hmad wft f5F ap o #7

76. How many engineers know all three languages?

(1) 24 (2) 30
(1) 24 (2) 30 S o
(3) 36 (4) None of these (3}, 98 (4) ¥ 8 7%
77. The total number of software engineers who know 77. &#fwed%T sfirad 1 Fw #ear ot B3 1 4 gt # wée
exactly one language out of given three: TH A A &
(1) 280 (2) 360 (1) 280 (2) 360
(3) 450 (4) None of these (3) 450 (4) zH 7 7
78. The total number of software engineers who only know 78. dfyeday efmgd & FA A A Faw CH# W A ¥ ;
i (1) 120 (2) 130
(1) 120 (2) 130 (3) 418 (4) z7% | 2% 7
(3) 115 {4) None of these
79. The vitamin that helps to prevent infections in human 79. #rg 9 # zagaym %3 3 fd -1 faefi gz F0
body? : 27
" (1) Vitamin A (2) Vitamin B (1) Refm A @) ﬁaﬁm 9
(3) Vitamin C (4) None of these (3) fefm c 4) T & 7 A# 48
80. Which of the following is the highest mountain peak in 80. zRw wrg § wateg uda firar Fa-wr & g‘o K
South India: () o Doy \
- . 2 ; o
A1) Anai Mudi (2) Doda Beta (3) qgam? : :4; 4,}
(3) Mahendragir (4) Dhupgarh Sl i

81. The age of the Earth is approximately 1.3 x 10" 81, YeR )t oy e 1.3 x 107 AdEE vd 0F o w3
seconds, and one year is approximately 3.2 x 10’ x 10" ¥dvgm Aar ¥ P & @ dm g & e

seconds. Which of the fo!lowing is closest to the age watfs

of the Earth in years? : i e, b :
' (1) 2.5 % 107 s moe g s g

(3) 1.9x10 2.5x10!! ; g 2 e ;

0, S C\' eroxs [ A-11] s i = . PAPER-1[641772]
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DIRECTIONS: (Question NO g2 1o 88) Study the table below to
answer these questions The table gives the percentage
r-h%irfu.utmnd;\f population of five states Punjab, Uttarakhand,

Gt

W gar & afesr 9 el e,

R0 L G B LB TR S S
TEEE,

AR, B

dftrermy ﬂrmw 1 fagen wigws o0 T G e W Ce

srnataka and ramilnadu on the basis of poverty ey 1’, ﬁﬂﬂ’ q7 i rj[ ﬁi :

Hajasthan, Ks

quen o4 el

line and also on the tmsis__Of :qend_'?_('__ i b e e L ; )
: Sy : MF:opLé:agiOn of aid v & | el
| percentage of | Males & Females : PESERPIRE e - e T ol
s pPopulation Below | Above L A9 e | ﬂﬁ_é} e o "
STATE . Below Poverty | Poverty o e | 3 A’i?g ; ,.4{*_ ‘m? o
| Povertyline | Line | Line | 5.8 s g
.' M:F | M:F . s il o
e 35" e —g"é """" 67 T i Iofra 30 l SRR ) " ’? 2y
PU"thb - e e S § 0 i e e e -—}‘ y !‘ g r‘ 6“’ TE-
' Unarakhnad 22__ LR s BB SaEs ___25 et 3 -AVERY BB 4 A E.
Ralaslhan 4 o Y BEL S 0E NShi 2:3 MLkl 24 1 1:2 1 2 & 4
Karnataka ool ___._1_9._.__ G 4:3 FAeH __-19_ i . 3.2 1 "4. .. 7 $i
‘{am;lnadu 1_ 1§ 5 ‘. 3 3 . 2 bt — s i _{._ . : e S ,‘ e kear -.-,—-n.-_.d-;-_dg-
T ittt iie . dferrg 15 518 - B0 S

If the male population above poverty line for the state

82. ST ;
Rajasthan is 1.9 million then the total population of the 82. R ;;T % ford whd i;;{ 8 ?‘&ﬁ éﬁwy’
state Rajasthan is? 1.9 ffere O 9 %) 49 srden sk %7
(1) 4.5 Million (2) 6.25 Million (1) 4.5 fifer (2) 625 et -
(3) 5.35 Million (4) None of these (3) 5.35 e (4) T A 2% 76 _
83. What will be the number of females above poverty line 83, #fes g # Tl Tar @ Fyr sewadt 6 ey =y
in the state Karnataka if it is known that the population arft ofr a8 W ® @ wates 4 omden 7 e 32
; 3 0
of Karnataka is 7 million? (1) 3 PR (2) 2.47% fefapa
(1) 3 Million (2) 2.43 Million (3) 1.33 fuferas (4) 5.7 M
(3) 1.33 Million (4) 5.7 Million
84. What will be the number of male population above 84. 7f% dome ¥ Thdt Tar & 49 sfewmet 4 w=wem 25
poverty line for the state Punjab if the female Pifer 8, f Thed Y@ @ sy ged 4 den m #
population below poverty line for Punjab is 2.1 Million? arfi?
(1) 2.1 Million (2) 2.3 Million (1) 2.1 fafergs (2) 2.3 MR
85. If the population of males below poverty line for state 85. 3% Swwrds o9 & T« Tan & A2 gl 4 Fwimm 24
Uttarakhand is 2.4 million and that for the state Pt 8 ud aftmerg vow & 6 fafems 2, @ swomz
Tamilnadu is 6 million, then total population of states aﬁ:ﬁmg F SHEET H FIIE F 27
Uttarkhand and Tamilnadu are in the ratio? = :
)y 13 =) 25 (3) 37 4) 49
1) 13 (2 25 (3) 37 4) 49
86. If the population of males below poverty line for state 86. % ITUES WY § Tl T & H& yait % s=dsm 12
Uttarakhand is 1.2 million and that for the state ffe @ o dfteerg, T & 3 Pife B, @ ot
Tamilnadu is 3 million, then total population of states TAES Bl F TIHEAT F I F am?
Tamilnadu and Uttarkhand are in the ratio:
k5 2 (2)0 259 (3) 3.51 (4) 451
“€£1) 151 (2)..2.5:41 (3) _3.5:1 (4) 4.5:1
/{ Tagore was the first Asian to win Nobel Prize for 87. I W&w U & Rat A qwesr afem & o =i
literature. The second Asian to win Nobel prize for { A B YR IR A ga R 5 f{ 1.
literature belongs to which country?
hgml ol (1) ¥ @
(1) China (2) Japan (3) 9Rd (4) TR
(3) India (4) Pakistan -
88. Which of the following medium is used between CPU & 88. CPU 3! &amas aft &t T A f%nz cPU am RAM % =
RAM to speed up the processing power of a CPU? -9 Ty g BT & ;
(1) Virtual Memory (2) DRAM (1) omardy F‘iﬁf (2) DRAM
(3) Flash Memory (4) Cache Memory @® cmqfa @) #3 sy
mea[A—12] e Bﬁl‘-‘éﬁﬂ{e_ﬂ 777
e s =
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89. ASSERTION (A):- The President of India has the power
to grant pardon, reprieve, respite or remission of
punishment or to suspend, remit or commute sentence.

REASON (R)- The President exercises not only executive
functions but also judicial and legisiative functions

(1) Both Aand R are true and R is comect explanation of A (1) T TN AT - I Fh & AT AT, T AR e 3
(2) Both Aand R are e but R is not correct explanation of A (2) TN AW - 3 WA ¥ ;A I, U T e g
(3) Aistrue butRis false (3) T g8 & af% oy fem 2 '
(4) Ajs false but Ris true (4) T fye 2 AT AT Eh 2

90. Consider the following figure and answer the item 90. Rr=ifafaa R %1 sl $T T4 99 H 0 &1
given below:

G
o IO
(A (up})
=/ T _
: i i gvires Y Bm v & R g B Rt ot
What is the minimum number of different colours e %) saviEa § s & @2 gu E B T Ay
required to paint the figure given above such that no _ s
two adjacent regions have same colours. g e 44) :3 s
(1) 4 (2): -7 (3) 3 (4) 8
91. How many triangles are there in the given figure? 91. #2 R g fm ¥ Bt At den R ¥
(1) 16 (2) 14 (3) 15 (4) None of these (1) 16 ) 14 (3) 15 4) T & 3% =&
92. What will come in place of question mark. 92. W o 3 WM W T FE?
PO,
6
X SO0
(1) 31 (2) 32 (3) 34 J#) None of these {1)--31 (2) 32 (3) 34 (4 T F 3 98
93. 'C’is a place which is located 2 km away in the north- 93. Tl Z § TR RM A 2 . A w ¢’ =
west direction from the capital Z. R is another place ™ Raa & R @ T T A |, ' ¥ ehyo-ofvey R #
that is located 2 km away in the south-west direction 2 fel. = W W AR/ R D
from ‘C’. ‘M’ is another place and that is located 2 km : (s ' Qﬂi (A ‘RIFI,’ R
away in the north-west direction from ‘R’. ‘T" is yet S-aREs Rar 7 2 Bl @ -‘i.-& W T & e
another place that is located 2 km away in the south- WHE, ‘M § o oy Rw & 2 & & WwzZd
west direction from ‘M. In which direction is ‘T’ ‘T 5w R # ok ®2
located in relation to ‘2'? (1) 2R @ &
/m South-West (2) West (3) I : @) =7 A B @
(3) North (4) None of these :
94. When three coins are tossed together, the probability 94. & @ i@ t® §w vW o) &, & o0 f@ 3 W ﬁﬁ
that all coins have the same face is: M N Fefaar 4 e
A 1/4 (2) 116 (1) 1/4 () 116
3 113 (4) None of these (3) 113 (4) 8 § B¢ 7
95. What will happen to the area of a rectangle if its length 95. F™a %1 55w =7 & ﬂﬁ’ﬂ R iﬁ e T @ e
is doubled and breadth is tripled? o a7 @ e _
(1) 5 times more the area of the old rectangle (1) goeh ome @ @9wd & 5 T
(2) Area will remain the same (2) &% @ W -
(3) 6 times less the area of the old rectangle (3) JO v B Fd B 6 T I
(4) 6 times more the area of the old rectangle (4 R e § & H 6 T SR
eroxs [ A-13 ] AR T
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GENERAL ENGLISH

4 semences o repored speech

CIEE T M poaraeTt
b 54 i i 1§ g b tea e tor Austialla next week”
¥8, Ofigaln el 8 L
s i j frugl B8 Dadk feannes o ieave for Australia next week
11y SR By
g ol fhad g PIBINE0 A6 ieave for Australia next week,
i ., aati g thal e [Aefineas 16 leayve for Australia the kjilowing week
A ‘.t Shashi Wi fhat he Nad planned 1o leave for Australia the following week,

G1 Head he seitancs B0 CHoGse the antonyms of the Underlined Word among the alternative words or phrases as (1),
(). (3] an (4)
fhid h|i|fr.nn]uls.’]4&“‘ lpared very HIHEE'DJ
{1} :".irr!;j {2J pleasant
(37 Etheisid ‘{4) HUHESI

DIRECTIONS . I the following Question, fill in the blanks by selecting a choice which is in keeping with good English usage.

gl The friend wirites faster .

(1) Than me (2) Than myself
(3) Tharn | (4) Than self

RIRECTIONS: In ths question, four words numbered (1), (2). (3) and (4) have been given of which one may be wrongly spelt. The
numbar of that word 18 your answer, }

0%,

(1) Gynacology (2) Habitual
(3) Inhertancs . (4) Manipulative

DIRECTIONS: Find the one word substitution in the following question.

100. Animals that can live both on land and water are called:

(1) Amorphous {2) Amphibian
(3) Aquatic (4) Versatile

101. Plural of the word “ Shelf”-

(1) Selves
(2) Shelves
(3) Shelfs
(4) Selfish

102. Fill in the appropriate conjunction:
Cover all the cut fruit ....... flies ..... sit on them.

(1) Lest, should
(2) Lest, should not

~ (3) Otherwise, should
(4) Otherwise, should not

103. in the question given below a sentence is broken into FOUR parts. Join these parts to make a meaningful sentence.
The correct order of parts is the answer. '

1. As we rarely get tip offs
2. From student’s community
3. ltishardto nab
4. Drug peddlers in the campus
(1) 3,4.1,2 i
(@ 1.2,3.4
Ay 2.3.1.4

s 3,421

¥ e A A Y
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: mcmw¢ Wm%&wgy mﬁmmiffdft it
11 _ﬂ#wmm '

'_1% wmwwmmmm wmrm
LT3 Eiwr R of Shyaor o e tie boeh. < o
e m,gmmmmmw‘mm ﬂmmmm
1y Ram i ana you Bave INRHEH i Sles e
Ay Eaen s Gigs Vit il (G By oAt HIGH,

106. meﬂmwﬁmm‘m awwnmmm« mmmﬁam ;
T teacher saicd , “Duii fietame an Ui Temtny in 1966°

(1) Vi bkt waaied St (6965 Told raeons 401 o Wt THeny ik 149046
(2) The eachir s that LW dis 1y s i umion teritry in Y666
A3} The tacher sad that Dethi Fsa fieosne s imen 16k in 1666
{4} The tescher said et Deti wm i LA Teirdeny in 1066

407 Cmplmg W m Mﬂg Kl pmpgf pnpgﬂﬁgﬂ

-y L i . r:r Erom
G M RN - C‘? fiy
108, mmmwmmmmhnwmmmwmm
mmlmmmwwwmn

'--‘*mi& P : _ : 2 we
D _._mnmm

He ssid, “Shall | begin the discussion’?”

(1) mmm#mmwmmm, S e Z
(2) He said f e wookd begn the dmwcuston. .+~ on i
3 ¥e told of he would begin the discussion. :
A5 mmwmmmmm

ﬁﬁ. mﬂu mmwmm-

e
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nd questions based on that

DIRECTIONS: (Question No 113 1o 116) A short passage s given After the passage you will 6
passage. First read the passage and answer guestions based on it e

The prisoner awaited his chance. For three solid years he had schemed for this opportunity. Now that escape seemed ggm
at hand. those three years lost stme of ther monotony But he would never forget the lashes, the close confinement, fow dli‘l'i Lot
worse still the mental strain of those black days Suddenly the warden did wha! he hoped. He stopped to uniock the lower padiock :

With a dull thud he slumped forward with keys i his hands. Swilly the prisoner seized his keys, uniocked the cell. and ran ’“‘0%
courtyard. it took him four SeC0NUS to reach the rope ladder secmz‘ly placed there by his accomplices, five more to dambafw_m-.r
wall and three more to jump into the waiting car to be whisked away to freedom. Even though he was guilty, the prisoner felt he hag
paid for his crime, for the man he had robbed three years ago was still 2 millionaire g

113. What had been the crime of prisoner:
{2) Murder

(1} Robbery
{4) Cheating

(3) Arson
114. Who slumped forward with a dull thud?

(1) The millionaire

(2) The prisoner

(3) The Warden
(4) Prisoner accomplice

115. Who had placed the rope ladder:

(1) Warden
(2) Prisoner
(3) Millionaire
{4) Accomplice
116. When had the crime been committed

(1) Just before escape
(2) Three years earlier
(3) Longago

(4) Day earlier

DIRECTIONS: Choose the correct passive voice of the sentence given in the question.

117. Is the noise not disturbing the old man?
(1) Is the old man not being qisturbpd by the noise?
(2) Whether the old man is not being disturbed by the noise?
(3) Do the old man not being disturbed by the noise?
(4) Letthe old man not be disturbed by the noise.

118. Choose the correct option for the sentence: ‘Many conjuring tricks depend upon optical i

(2) allusions

(1} delusions
(4) resolution

(3) iflusions
119. What does ‘to put one’s best foot forward’ mean?

(1) to give oneself up

(2) todisclose a secret

(3) to march in a straight line

(4) to make a good first impression e e
DIRECTIONS: Against each key word are given four suggested meaning. Choose the word or phrasewhfch is mearestm meaning
to the key word. 2 . ; R i v choe

120. ASPERITY:
(1) Ambition
(2) Eagerness
- {3) Promptness
(4) Harshness
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